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[History of World]

Time : Three Hours ]	�  [Maximum Marks : 75

uksV	:	 [k.M ^v* vfr y?kq mÙkjh; çdkj dk] ftlesa nl ç'u 
vfuok;Z gSaA [k.M ^c* esa y?kq mÙkjh; çdkj ds ç'u gSa ,oa 
[k.M ^l* esa nh?kZ mÙkjh; ç'u gSaA [k.M ^v* dks lcls 
igys gy fd;k tkuk gSA

Note :	Section ‘A’, containing 10 very short answer type 
questions, is compulsory. Section ‘B’ consists of short 
answer type questions and Section ‘C’ consists of long 
answer type questions. Section ‘A’ has to be solved first.

[k.M ^v*
Section ‘A’

		  fuEukafdr vfr y?kq mÙkjh; ç'uksa ds mÙkj ,d ;k nks okD;ksa 

esa nhft,A

		 Answer the following very short answer type 
questions in one or two sentences. �[1 × 10 = 10]

				�     P.T.O.
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	 1.	ßi`Foh lw;Z ds pkjksa vksj pDdj yxkrh gSAÞ ds fl¼kar dk 
tUenkrk dkSu Fkk \

		 Who was the originator of the theory that “Earth 
revolves around the sun” ?

	 2.	e/;;qx ds çkjaHk esa Lisuh çk;}hiksa ij fdldk vf/kdkj  
Fkk \

		 Who had authority in the Spanish Peninsula at 
the beginning of Middle Ages.

	 3.	vkS|ksfxd Økafr ds le; fey&ekfyd etnwjksa ls fdrus ?kaVs 
dke djkrs Fks \

		 How many hours did mill owners take work 
from workers during Industrial Revolution.

	 4.	ty'kfDr ls pyus okys dj?ks dk vfo"dkj fdlus fd;k  
Fkk \

		 Who invented the loom which runs on hydrolic 
power ?

	 5.	okVjyw dk ;q¼ fdl o"kZ yM+k x;k Fkk \

		  In which year the Battle of Waterloo was Fought.

	 6.	 fo;suk dkaxzsl esa Ýkal dk çfrfuf/k dkSu Fkk \

		 Who was representative of France in Vienna 
congress.

				    [ 2 ]�



Code No. : BA-116

	 7.	ßØkafr ,d jksx] ,d Tokykeq[kh vkSj ,d fo"kSyk QksM+k gSAÞ 

dkSu dgrk Fkk \

		 Who said “Revolution is a disease a volcano and 
a venomous boil.

	 8.	Øhfe;k ;q¼ ds le; VdhZ dk 'kkld dkSu Fkk \

		 Who was the ruler of Tourkey during the war of 
Crimean.

	 9.	çslcxZ dh laf/k 1805 bZ- esa fdu nks ns'kksa ds chp gqbZ Fkh \

		 Treaty of Pressburg was signed between which 
countries on 1805.

	 10.	ßge 'kjhj ;k vkRek ls dHkh&Hkh dSukslk ugha tk;saxsAÞ fd-

lus dgk FkkA

		 Who told “We will not go to Canossa—neither 
in body nor in spirit” ?

[k.M ^c*
Section ‘B’

		 fuEukafdr y?kq mÙkjh; ç'uksa ds mÙkj yxHkx 150-200 'kCn 

lhek esa nhft,A

		 Answer the following short answer type questions 
in about 150-200 words.� [5 × 5 = 25]
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	 1.	iqutkZxj.k dh çeq[k fo'ks"krk,¡ crkb;sA

		 State the main features of the Renaisssance.

vFkok@ Or

		 jk"Vªh; jkT; ds :i esa Lisu ds mn; dks crkb;sA

		 Trace the rise of spain as a nation-state.

	 2.	vkS|ksfxd Økafr ls vki D;k le>rs gSa \ crkb;sA

		 What do you understand by Industrial revolution.

vFkok@ Or

		 xkSjoiw.kZ Økafr ds /kk£ed dkj.kksa dh O;k[;k dhft,A

		 Explain the religious reasons for the glorious 
revolution.

	 3.	vesfjdk ds Lora=rk laxzke dk rkRdkfyd crkb;sA

		 State the immediate cause of America’s freedom 
struggle.

vFkok@ Or

		  fo;uk dkaxzsl dh çeq[k leL;k,¡ crkb;sA

		 Mention the main problems of the congress of 
Vienna.

	 4.	tqykbZ Økafr ds eq[; dkj.k D;k Fks \

		 What were the main causes of the July revolution.
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vFkok@ Or

		 iwohZ leL;k ds Lo:i ij çdk'k Mkfy,A

		 Throw light on the nature of the eastern problem.

	 5.	bVyh ds ,dhdj.k esa dSrwj dh Hkwfedk dk o.kZu dhft,A 

	 	Describe the role of Cavour in the unification of 
Italy.

vFkok@ Or

		  fcLekdZ dh x`guhfr D;k Fkh \

		 What were Bismarck’s home policies ?

[k.M ^l*
Section ‘C’

		 fuEukafdr nh?kZ mÙkjh; ç'uksa ds mÙkj yxHkx 300-350 'kCn 
lhek esa nhft,A

		 Answer the following long answer type questions 
in about 300-350 words.� [8 × 5 = 40]

	 1.	;wjksi esa iqutkZxj.k ds fodkl ds fy, dkSu&ls rRo mÙkjnk;h 
Fks \ o.kZu dhft,A

		 What factors were responsible for the growth of 
Renaissance in Europe ? Explain.

vFkok@ Or

		 /keZ lq/kkjd ds :i esa ek£Vu ywFkj ds ;ksxnku dk ewY;kadu 
dhft,A
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		 Evaluate the contribution of Martin Luther as a 
reformer.

	 2.	baXyS.M esa loZçFke vkS|ksfxd Økafr gkssus ds dkj.kksa dks 
le>kb;sA

	 	Describe the reasons for the first Industrial 
Revolution in England.

vFkok@ Or

		 baXyS.M esa x`g;q¼ ds dkj.k ,oa ifj.kkeksa dks fyf[k,A

		 Write the reasons and consequences of the civil 
war in England.

	 3.	usiksfy;u dh egk}hih; O;oLFkk ,oa muds çHkkoksa dk 
vkdyu dhft,A

		 Evaluate the continental system of Napoleon and 
its effects.

vFkok@ Or

		 1789 bZ- dh Ýkalhlh Økafr ds çeq[k dkj.kksa dk o.kZu 
dhft,A

		 Describe the main causes of the French 
Revolution of 1789 A.D.

	 4.	eSVjfu[k dh fons'k uhfr dk o.kZu dhft,A

		 Describe the Foreign policy of Meternich.
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vFkok@ Or

		 1832 ds lq/kkj vf/kfu;e dk vkykspukRed ijh{k.k 
dhft,A

		 Critically examine the Reform Act, 1832.

	 5.	bVyh ds ,dhdj.k ds lksikuksa dk fooj.k nhft,A

	 	Trace the stages of the Unification of Italy.

vFkok@ Or

		 dSFkksfyd ppZ ,oa lektokfn;ksa ds çfr fcLekdZ dh uhfr;ksa 
dk foospukRed ijh{k.k dhft,A

		 Critically examine the policy of Bismark towards 
the Catholic church and socialists.
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